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e ASEZREERA:  argmax p(y|x)
y

RAXDEEEKY  p(y|x)oc p(x]

y)p(Y)

—
KSR SpiER
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S RERIIZEHTIDERDE
p(y)=n,/n

B THE

REEDLEE  FHTESHERZEDS

ECHETEL =0

BEO-6H, SHAETHOLVERZERS p(x)
Z x| DOEET SEBEEZD.
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o XAHEE AL

o NAXHEE RABRIEEEL

/2 1NT AR )WY % (non-parametric method):
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o RITEFEH T L
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- A+ 5 L% (histogram method): Bf#filZEXR
) SLERAWTHRZEBRBEHET SHE
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o ZENEINIZADIFIERENZD.
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R:x' E—ad'_,/\’;'t > ZEfe] D WD 3HATEE (region)
V: R M{A%E(volume)

V :dex
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P = j o(x)dx
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P =Vp(X')

ERDRATELUL, p(x) B RATIRIF
—EEZEHEE, FEMNEL.

W) B R DEVAHEL !

Pl
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P . J
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fEig RELT, bR xEHILETEH—ILD
£3IH h DL A A (hypercube)ZALNVD.
o A%2 V =h"

o R ICADIER —_X_R—
) — D
X — X, h/2 h/2
k=YW
Sw(x
— Wy
W(x)=1 ex X 1< 17— h
0 Fhbst X
i R
/ﬁ—tf/?g\&iﬂfﬂ T — D
(Parzen window function) h/2 h/?2

x = (xW x® . x@Y
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IN—t R iE(Parzen window method):
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11— )LEA#(kernel function) K(x) :

IDK(x)dx:l K(x)>0for all xe D

H—2 )L EH#ETE ;% (Kernel density estimation):

nhdz (
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N :7 > FiiE(bandwidth)
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1 LT
K(X) = (22) " exp(—3 X X)
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IRTD AN T HH—RILEEHTE LS
EEL, BT T—AATHANCHERZEBRNE
HEEX(GUTILTOYSLSER).
T—3ERY, EQOEERS, h—RIJLEH,
INVREBIREDEHZEILSIETEE, EDLD
ICHERENEDLINEERE L.

RIDBHALAFEIT, AADN2RITDIFEITHL
THLRIEDEERZITA. £f-, RxhtEZ -2
ICKYUED LSBT EL-IEEEE L.




OctaveDH> T )LT0O5 5L 154

kde.m myrand.m
clear all function x=myrand(n)
n=5000; x=myrand(n);
h=0.1; x=zeros(1,n);

u=rand(1,n);

xx=0:0.01:5;
pxh=zeros(size(xx)); flag=(0<=u & u<1/8);
fori=1:n X(flag)=sqrt(8*u(flag));

pxh=pxh+normpdf(xx,x(i),h"*2)/n;
end

figure(1); clf; hold on;
hist(x,0:0.1:5,10)
plot(xx,pxh,'b-")
legend('true’,'estimated’)
print -depsc kde.eps

flag=(1/8<=u & u<1/4);
X(flag)=2-sqrt(2-8*u(flag));
flag=(1/4<=u & u<1/2);
X(flag)=1+4*u(flag);
flag=(1/2<=u & u<3/4);
X(flag)=3+sqgrt(4*u(flag)-2);
flag=(3/4<=u & u<=1);
X(flag)=5-sqrt(4-4*u(flag));
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